

SOME RESULTS ON COMPLEX VALUED METRIC SPACES EMPLOYING AN IMPLICIT RELATION WITH COMPLEX COEFFICIENTS AND ITS APPLICATIONS

FAYYAZ ROUZKARD

ABSTRACT. In this paper, we establish coincidence point and common fixed point theorems involving two pairs of weakly compatible mapping satisfying contraction condition with complex coefficient are proved in complex valued metric space. The presented theorems generalize, extend and improve many existing results in the literature. An example is given at the end of the paper.

1. INTRODUCTION WITH PRELIMINARIES

In 2011, Azam et al.(cf.[1]) and Fayyaz et al. (cf.[2]) studied complex valued metric spaces wherein some fixed point theorems for mappings satisfying a rational inequality were established. Naturally, this new idea can be utilized to define complex valued normed spaces and complex valued inner product spaces which ,in turn, offer a lot of scopr for further investigation. Though complex valued metric spaces form a special class of cone metric space, yet this idea is intended to define rational expressions which are not meaningfull in cone metric spaces and thus many results of analysis cannot be generalized to cone metric spaces. Indeed the definition of a cone metric space banks on the underlying Banach space which is not a division Ring . However , in complex valued metric spaces, we can study improvements of a host of results of analysis involving divisions.

In this paper we prove coincidence point and common fixed point theorems involving two pairs of weakly compatible mappings satisfying complex inequality expressions in complex valued metric space.

To begin with, we collect some definitions and basic facts on the complex valued metric space, which will be needed in the sequel.

Let \mathbb{C} be the set of complex numbers and $z_1, z_2 \in \mathbb{C}$. Define a partial order \preceq on \mathbb{C} as follows:

$$z_1 \preceq z_2 \text{ if and only if } Re(z_1) \leq Re(z_2), Im(z_1) \leq Im(z_2).$$

Consequently, one can infer that $z_1 \preceq z_2$ if one of the following conditions is satisfied:

- (i) $Re(z_1) = Re(z_2), Im(z_1) < Im(z_2)$,

2000 *Mathematics Subject Classification.* 47H10, 54H25.

Key words and phrases. Common fixed point; Contractive type mapping; Complex valued metric space; Complex Coefficient.

- (ii) $Re(z_1) < Re(z_2), Im(z_1) = Im(z_2)$,
- (iii) $Re(z_1) < Re(z_2), Im(z_1) < Im(z_2)$,
- (iv) $Re(z_1) = Re(z_2), Im(z_1) = Im(z_2)$.

In particular, we write $z_1 \lesssim z_2$ if $z_1 \neq z_2$ and one of (i), (ii), and (iii) is satisfied and we write $z_1 \prec z_2$ if only (iii) is satisfied. Notice that $0 \lesssim z_1 \lesssim z_2 \Rightarrow |z_1| < |z_2|$, and $z_1 \lesssim z_2, z_2 \prec z_3 \Rightarrow z_1 \prec z_3$.

Definition 1.1. (cf.[2]) Let X be a nonempty set whereas \mathbb{C} be the set of complex numbers. Suppose that the mapping $d : X \times X \rightarrow \mathbb{C}$, satisfies the following conditions:

- (d_1). $0 \lesssim d(x, y)$, for all $x, y \in X$ and $d(x, y) = 0$ if and only if $x = y$;
- (d_2). $d(x, y) = d(y, x)$ for all $x, y \in X$;
- (d_3). $d(x, y) \lesssim d(x, z) + d(z, y)$, for all $x, y, z \in X$.

Then d is called a complex valued metric on X , and (X, d) is called a complex valued metric space.

Example 1.1. (cf.[2]) Let $X = \mathbb{C}$ be a set of complex number. Define $d : \mathbb{C} \times \mathbb{C} \rightarrow \mathbb{C}$, by

$$d(z_1, z_2) = |x_1 - x_2| + i|y_1 - y_2|$$

where $z_1 = x_1 + iy_1$ and $z_2 = x_2 + iy_2$. Then (X, d) is a complex valued metric space.

Example 1.2. Let $X = \mathbb{C}$ be a set of complex number. Define $d : \mathbb{C} \times \mathbb{C} \rightarrow \mathbb{C}$, by

$$d(z_1, z_2) = e^{ik}|z_1 - z_2|$$

where $z_1 = x_1 + iy_1$ and $z_2 = x_2 + iy_2$. Then (X, d) is a complex valued metric space.

Definition 1.2. Let (X, d) be a complex valued metric space and $B \subseteq X$

- (i) $b \in B$ is called an interior point of a set B whenever there is $0 \prec r \in \mathbb{C}$ such that

$$N(b, r) \subseteq B$$

where $N(b, r) = \{y \in X : d(b, y) \prec r\}$.

- (ii) A point $x \in X$ is called a limit point of B whenever for every $0 \prec r \in \mathbb{C}$,

$$N(x, r) \cap (B \setminus \{x\}) \neq \emptyset.$$

(iii) A subset $A \subseteq X$ is called open whenever each element of A is an interior point of A . A subset $B \subseteq X$ is called closed whenever each limit point of B belongs to B . The family

$$F = \{N(x, r) : x \in X, 0 \prec r\}$$

is a sub-basis for a topology on X . We denote this complex topology by τ_c . Indeed, the topology τ_c is Hausdorff.

Definition 1.3. Let (X, d) be a complex valued metric space and $\{x_n\}_{n \geq 1}$ be a sequence in X and $x \in X$. We say that

(i) the sequence $\{x_n\}_{n \geq 1}$ converges to x if for every $c \in \mathbb{C}$, with $0 \prec c$ there is $n_0 \in \mathbb{N}$ such that for all $n > n_0$, $d(x_n, x) \prec c$. We denote this by $\lim_n x_n = x$, or $x_n \rightarrow x$, as $n \rightarrow \infty$,

(ii) the sequence $\{x_n\}_{n \geq 1}$ is Cauchy sequence if for every $c \in \mathbb{C}$ with $0 \prec c$ there is $n_0 \in \mathbb{N}$ such that for all $n > n_0$, $d(x_n, x_{n+m}) \prec c$,

(iii) the metric space (X, d) is a complete complex valued metric space If every Cauchy sequence is convergent.

Definition 1.4. (cf.[4]) Two families of self-mappings $\{T_i\}_{i=1}^m$ and $\{S_i\}_{i=1}^n$ are said to be pairwise commuting if:

- (i) $T_i T_j = T_j T_i$, $i, j \in \{1, 2, \dots, m\}$.
- (ii) $S_i S_j = S_j S_i$, $i, j \in \{1, 2, \dots, n\}$.
- (iii) $T_i S_j = S_j T_i$, $i \in \{1, 2, \dots, m\}$, $j \in \{1, 2, \dots, n\}$.

Definition 1.5. let $S : \mathbb{C} \rightarrow \mathbb{C}$ be a given mapping. we say that S is a non-decreasing mapping with respect \lesssim if for every $x, y \in \mathbb{C}$, $x \lesssim y$ implies $Sx \lesssim Sy$.

Definition 1.6. (cf.[3]) let S and T be two self-maps defined on set X . Then S and T are said to be weakly compatible if they commute at every coincidence point.

In [1], Azam et al. established the following two lemmas.

Lemma 1.1. (cf.[1]) Let (X, d) be a complex valued metric space and let $\{x_n\}$ be a sequence in X . Then $\{x_n\}$ converges to x if and only if $|d(x_n, x)| \rightarrow 0$ as $n \rightarrow \infty$.

Lemma 1.2. (cf.[1]) Let (X, d) be a complex valued metric space and let $\{x_n\}$ be a sequence in X . Then $\{x_n\}$ is a Cauchy sequence if and only if $|d(x_n, x_{n+m})| \rightarrow 0$ as $n \rightarrow \infty$.

2. MAIN RESULTS

Theorem 2.1. If S, T, I and J are self-mappings defined on complex valued metric space (X, d) satisfying $TX \subseteq IX$, $SX \subseteq JX$ and

$$(2.1) \quad \lambda d(Sx, Ty) \lesssim Ad(Ix, Jy) + Bd(Ix, Sx) + Cd(Jy, Ty) + Dd(Ix, Ty) + Ed(Sx, Jy),$$

for all $x, y \in X$, where $D, E \in \mathbb{R}^+$, $\lambda, A, B, C \in \mathbb{C}_+$ and $0 \prec A + B + C + D + E \prec \lambda$. If one of SX, TX, IX or JX is a complete subspace of X , then:

- (a) $\{S, I\}$ and $\{T, J\}$ have a unique point of coincidence in X ,
- (b) if $\{S, I\}$ and $\{T, J\}$ are weakly compatible, then S, T, I and J have a unique common fixed point in X .

Proof. Let x_0 be an arbitrary point in X . Since $SX \subseteq JX$, we find a point x_1 in X such that $Sx_0 = Jx_1$. Also, since $TX \subseteq IX$, we choose a point x_2 with $Tx_1 = Ix_2$. Thus in general for the point x_{2n-2} one find a point x_{2n-1} such that $Sx_{2n-2} = Jx_{2n-1}$ and then a point x_{2n} with

$Tx_{2n-1} = Ix_{2n}$ for $n = 0, 1, 2, \dots$. Repeating such arguments one can construct sequences $\{x_n\}$ and $\{y_n\}$ in X such that,

$$y_{2n-1} = Sx_{2n-2} = Jx_{2n-1}, \quad y_{2n} = Tx_{2n-1} = Ix_{2n}, \quad n = 0, 1, 2, \dots$$

Using inequality 2.1, we have

$$\begin{aligned} \lambda d(Sx_{2n}, Tx_{2n+1}) &\lesssim Ad(Ix_{2n}, Jx_{2n+1}) + Bd(Ix_{2n}, Sx_{2n}) + Cd(Jx_{2n+1}, Ty_{2n+1}) + Dd(Ix_{2n}, Tx_{2n+1}) \\ &\quad + Ed(Sx_{2n}, Jx_{2n+1}), \end{aligned}$$

or

$$\begin{aligned} \lambda d(y_{2n+1}, y_{2n+2}) &\lesssim Ad(y_{2n}, y_{2n+1}) + Bd(y_{2n}, y_{2n+1}) + Cd(y_{2n+1}, y_{2n+2}) + Dd(y_{2n}, y_{2n+2}) \\ &\quad + Ed(y_{2n+1}, y_{2n+1}), \end{aligned}$$

and

$$\lambda d(y_{2n+1}, y_{2n+2}) \lesssim Ad(y_{2n}, y_{2n+1}) + Bd(y_{2n}, y_{2n+1}) + Cd(y_{2n+1}, y_{2n+2}) + Dd(y_{2n}, y_{2n+2}),$$

since $D \in \mathbb{R}^+$,

$$(\lambda - C - D)(d(y_{2n+1}, y_{2n+2})) \lesssim (A + B + D)(d(y_{2n}, y_{2n+1})),$$

therefore,

$$|\lambda - C - D||d(y_{2n+1}, y_{2n+2})| \leq |A + B + D||d(y_{2n}, y_{2n+1})|,$$

and

$$|d(y_{2n+1}, y_{2n+2})| \leq \frac{|A + B + D|}{|\lambda - (C + D)|} |d(y_{2n}, y_{2n+1})|,$$

$$(2.2) \quad |d(y_{2n+1}, y_{2n+2})| \leq h_1 |d(y_{2n}, y_{2n+1})|,$$

where, $h_1 = \frac{|A+B+D|}{|\lambda-(C+D)|}$.

since $D, E \in \mathbb{R}^+$, $\lambda, A, B, C \in \mathbb{C}_+$ and $0 \prec A + B + C + D + E \prec \lambda$ then $h_1 = \frac{|A+B+D|}{|\lambda-(C+D)|} < 1$.

Again, using inequality 2.1,

$$\begin{aligned} \lambda d(Sx_{2n}, Tx_{2n-1}) &\lesssim Ad(Ix_{2n}, Jx_{2n-1}) + Bd(Ix_{2n}, Sx_{2n}) + Cd(Jx_{2n-1}, Ty_{2n-1}) + Dd(Ix_{2n}, Tx_{2n-1}) \\ &\quad + Ed(Sx_{2n}, Jx_{2n-1}), \end{aligned}$$

or

$$\begin{aligned} \lambda d(y_{2n+1}, y_{2n}) &\lesssim Ad(y_{2n}, y_{2n-1}) + Bd(y_{2n}, y_{2n+1}) + Cd(y_{2n-1}, y_{2n}) + Dd(y_{2n}, y_{2n}) \\ &\quad + Ed(y_{2n+1}, y_{2n-1}). \end{aligned}$$

Since $E \in \mathbb{R}^+$,

$$(\lambda - C - E)(d(y_{2n+1}, y_{2n})) \lesssim (A + B + E)(d(y_{2n}, y_{2n-1})),$$

therefore,

$$|d(y_{2n+1}, y_{2n})| \leq \frac{|A + B + E|}{|\lambda - (C + E)|} |d(y_{2n}, y_{2n-1})|,$$

and

$$(2.3) \quad |d(y_{2n+1}, y_{2n})| \leq h_2 |d(y_{2n}, y_{2n-1})|,$$

where, $h_2 = \left| \frac{A+B+E}{\lambda-(C+E)} \right|$.

since $E \in \mathbb{R}^+$, $\lambda, A, B, C \in \mathbb{C}_+$ and $0 \prec A + B + C + D + E \prec \lambda$ then $h_2 = \left| \frac{A+B+E}{\lambda-(C+E)} \right| < 1$.

Combining 2.2 and 2.3, we have

$$|d(y_{2n+1}, y_{2n+2})| \leq h |d(y_{2n}, y_{2n-1})|,$$

where $h = h_1 h_2$.

Continuing this process, we get

$$(2.4) \quad |d(y_{2n+1}, y_{2n+2})| \leq h^n |d(y_1, y_2)|.$$

By using inequality 2.1, we have

$$\begin{aligned} \lambda d(y_{2n+3}, y_{2n+2}) &= \lambda d(Sx_{2n+2}, Tx_{2n+1}) \\ &\lesssim Ad(y_{2n+2}, y_{2n+1}) + Bd(y_{2n+2}, y_{2n+3}) + Cd(y_{2n+1}, y_{2n+2}) + Dd(y_{2n+2}, y_{2n+2}) \\ &\quad + Ed(y_{2n+3}, y_{2n+1}) \\ &= Ad(y_{2n+2}, y_{2n+1}) + Bd(y_{2n+2}, y_{2n+3}) + Cd(y_{2n+1}, y_{2n+2}) + Ed(y_{2n+3}, y_{2n+1}). \end{aligned}$$

Since $E \in \mathbb{R}^+$, we get,

$$\begin{aligned} \lambda d(y_{2n+3}, y_{2n+2}) &\lesssim Ad(y_{2n+2}, y_{2n+1}) + Bd(y_{2n+2}, y_{2n+3}) + Cd(y_{2n+1}, y_{2n+2}) \\ &\quad + E(d(y_{2n+3}, y_{2n+2}) + d(y_{2n+2}, y_{2n+1})). \end{aligned}$$

and,

$$(\lambda - E - B)d(y_{2n+3}, y_{2n+2}) \lesssim (A + C + E)d(y_{2n+2}, y_{2n+1}),$$

therefore,

$$(2.5) \quad d(y_{2n+3}, y_{2n+2}) \leq \left| \frac{A + C + E}{\lambda - E - B} \right| d(y_{2n+2}, y_{2n+1}) = h_3 d(y_{2n+2}, y_{2n+1}),$$

where $h_3 = \left| \frac{A+C+E}{\lambda-E-B} \right|$. Combining 2.4 and 2.5, we have

$$(2.6) \quad |d(y_{2n+2}, y_{2n+3})| \leq h^n h_3 |d(y_1, y_2)|.$$

From 2.4 and 2.6, we get

$$|d(y_n, y_{n+1})| \leq \frac{\max\{1, h_3\}}{h} (\sqrt{h})^n |d(y_1, y_2)|, \text{ for } n = 2, 3, \dots$$

Therefore, for any $m > n$, we have

$$\begin{aligned}
|d(y_n, y_m)| &\leq |d(y_n, y_{n+1})| + |d(y_{n+1}, y_{n+2})| + |d(y_{n+2}, y_{n+3})| + \cdots + |d(y_{m-1}, y_m)| \\
&\leq \frac{\max\{1, h_3\}}{h} [(\sqrt{h}^n + \sqrt{h}^{n+1} + \sqrt{h}^{n+2} + \cdots + \sqrt{h}^{m-1})] |d(y_1, y_2)| \\
&\leq \left[\frac{\sqrt{h}^n}{h(1 - \sqrt{h})} \right] \max\{1, h_3\} |d(y_1, y_2)|
\end{aligned}$$

since $0 < h < 1$, so that

$$|d(y_n, y_m)| \leq \left[\frac{\sqrt{h}^n}{h(1 - \sqrt{h})} \right] \max\{1, h_3\} |d(y_1, y_2)| \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

In view of Lemma 1.2, the sequence $\{y_n\}$ is Cauchy sequence in (X, d) . Now suppose IX is complete subspace of X , then the subsequence $y_{2n} = Tx_{2n-1} = Ix_{2n}$ converges to some u in IX . That is,

$$(2.7) \quad y_{2n} = Ix_{2n} = Tx_{2n-1} \rightarrow u \quad \text{as } n \rightarrow \infty.$$

As $\{y_n\}$ is a Cauchy sequence which contains a convergent subsequence $\{y_{2n}\}$, therefore the sequence $\{y_n\}$ also converges implying thereby the convergence of the subsequence $\{y_{2n-1}\}$ being a subsequence of convergent sequence $\{y_n\}$. Consequently, we can find $v \in X$ such that

$$(2.8) \quad Iv = u.$$

We claim that $Sv = u$. Using inequality 2.1 and 2.8, we have

$$\begin{aligned}
\lambda d(Sv, y_{2n}) = d(Sv, Tx_{2n-1}) &\lesssim Ad(Iv, Jx_{2n-1}) + Bd(Iv, Sv) + Cd(Jx_{2n-1}, Tx_{2n-1}) \\
&\quad + Dd(Iv, Tx_{2n-1}) + Ed(Sv, Jx_{2n-1}) \\
&= Ad(u, y_{2n-1}) + Bd(u, Sv) + Cd(y_{2n-1}, y_{2n}) \\
&\quad + Dd(u, y_{2n}) + Ed(Sv, y_{2n-1}).
\end{aligned}$$

Letting $n \rightarrow \infty$ in the above inequality, using 2.7, we have

$$\lambda d(Sv, u) \lesssim (B + E)d(Sv, u).$$

since $0 < B + E < \lambda$, this implies that $d(Sv, u) = 0$, that is,

$$(2.9) \quad Sv = u.$$

Now, combining 2.8 and 2.9, we have

$$Iv = Sv = u,$$

that is, u is a point of coincidence of I and S .

Since $u = Sv \in SX \subseteq JX$, there exists $w \in X$ such that

$$(2.10) \quad u = Jw.$$

We claim that $Tw = u$. Using inequality 2.1, we have

$$\lambda d(u, Tw) = \lambda d(Sv, Tw) \lesssim Ad(Iv, Jw) + Bd(Iv, Sv) + Cd(Jw, Tw) + Dd(Iv, Tw) + Ed(Sv, Jw),$$

or,

$$\lambda d(u, Tw) \lesssim Cd(u, Tw) + Dd(u, Tw),$$

which by using, $0 \prec C + D \prec \lambda$, we have $d(u, Tw) = 0$, that is

$$(2.11) \quad u = Tw.$$

Combining 2.10 and 2.11, we have

$$u = Jw = Tw,$$

that is, u is a point of coincidence of J, T .

Now, suppose that u' is another point of coincidence of I and S , that is,

$$u' = Iv' = Sv',$$

for some $v' \in X$. Using inequality 2.1, we have

$$\begin{aligned} \lambda d(u', u) = \lambda d(Sv', Tw) &\lesssim Ad(u', u) + Bd(u', u') + Cd(u, u) + Dd(u', u) + Ed(u', u) \\ &= Ad(u', u) + Dd(u', u) + Ed(u', u), \end{aligned}$$

which implies (by using $0 \prec A + D + E \prec \lambda$) that $d(u', u) = 0$, that is, $u' = u$.

Now, suppose that \bar{u} is another point of coincidence of J and T , that is ,

$$\bar{u} = Jw' = Tw',$$

for some $w' \in X$. Using inequality 2.1, we get

$$\lambda d(u, \bar{u}) = \lambda d(Sv, Tw') \lesssim Ad(u, \bar{u}) + Dd(u, \bar{u}) + Ed(u, \bar{u}),$$

which implies (by using $0 \prec A + D + E \prec \lambda$) that $d(u, \bar{u}) = 0$, that is, $u = \bar{u}$. Therefore, we proved that u is the unique point of coincidence of $\{I, S\}$ and $\{J, T\}$.

Now, we prove S, T, I and J , have a unique common fixed point.

Since $\{I, S\}$ and $\{J, T\}$ are weakly compatible, and $u = Iv = Sv = Jw = Tw$, we can write

$$Su = S(Iv) = I(Sv) = Iu = w_1 \text{ (say)}$$

and,

$$Tu = T(Jw) = J(Tw) = Ju = w_2 \text{ (say)}.$$

By using inequality 2.1, we get

$$\begin{aligned} \lambda d(w_1, w_2) = \lambda d(Su, Tu) &\lesssim Ad(Iu, Ju) + Bd(Iu, Su) + Cd(Ju, Tu) + Dd(Iu, Tu) \\ &\quad + Ed(Su, Ju) = Ad(w_1, w_2) + Dd(w_1, w_2) + Ed(w_1, w_2), \end{aligned}$$

which implies (by using $0 \prec A + D + E \prec \lambda$) that $w_1 = w_2$, that is,

$$Su = Iu = Tu = Ju,$$

which by using inequality 2.1 we have

$$\begin{aligned} \lambda d(Sv, Tu) &\lesssim Ad(Iv, Ju) + Bd(Iv, Sv) + Cd(Ju, Tu) + Dd(Iv, Tu) \\ &\quad + Ed(Sv, Ju) = Ad(Sv, Tu) + Dd(Sv, Tu) + Ed(Sv, Tu), \end{aligned}$$

we deduce (by using $0 \prec A + D + E \prec \lambda$) that $Sv = Tu$, that is, $u = Tu$. This implies that

$$u = Su = Iu = Tu = Ju.$$

Then, u is the unique common fixed point of S, I, J and T . The proofs for the cases in which SX, JX , or TX is complete are similar, and are omitted. \square

3. APPLICATION

As an application of Theorems 2.1, we prove the following theorem for two finite families of mappings.

Theorem 3.1. *If $\{T_i\}_1^m, \{J_i\}_1^p$ and $\{S_i\}_1^l, \{I_i\}_1^n$ are two finite pairwise commuting finite families of self-mapping defined on a complex valued metric space (X, d) such that the mappings S, T, I and J (with $T = T_1 T_2 \dots T_m$, $J = J_1 J_2 \dots J_p$, $I = I_1 I_2 \dots I_n$ and $S = S_1 S_2 \dots S_l$) satisfy $TX \subset IX$ and $SX \subset JX$ and the inequality 2.1. If one of TX, SX, IX or JX are complete subspace of X , then the component maps of the two families $\{T_i\}_1^m, \{J_i\}_1^p$ and $\{S_i\}_1^l, \{I_i\}_1^n$ have a unique common fixed point.*

Proof. Appealing to componentwise commutativity of various pairs, one immediately concludes that $SI = IS$ and $TJ = JT$ and hence, obviously both the pairs (S, I) and (T, J) are weak compatible. Note that all the conditions of Theorem ?? (for mappings S, T, I and J) are satisfied ensuring the existence of unique common fixed point u in X , i.e. $Su = Tu = Iu = Ju = u$. We are required to show that u is common fixed point of all the components maps of the families. For this consider

$$\begin{aligned} S(S_k u) &= ((S_1 S_2 \dots S_l) S_k) u = (S_1 S_2 \dots S_{l-1}) ((S_l S_k) u) \\ &= (S_1 \dots S_{l-2}) (S_{l-1} S_k (S_l u)) = (S_1 \dots S_{l-2}) (S_k S_{l-1} (S_l u)) = \dots \\ &= S_1 S_k (S_2 S_3 S_4 \dots S_l u) = S_k S_1 (S_2 S_3 S_4 \dots S_l u) = S_k (Su) = S_k u \end{aligned}$$

Similarly one can show that

$$\begin{aligned} T_k u &= T_k J u = J T_k u, T_k u = T_k T u = T T_k u \\ J_k u &= T J_k u = J J_k u, S_k u = I S_k u = S S_k u \\ I_k u &= I I_k u = S I_k u, T_k u = T T_k u = J T_k u, \end{aligned}$$

which show that (for every k) $S_k u, T_k u, I_k u$ and $J_k u$ are other fixed points of S, T, I and J . By using the uniqueness of common fixed point for S, T, I and J , we can write $S_k u = T_k u = I_k u = J_k u = u$ (for every k) which shows that u is a common fixed point of the family $\{T_i\}_1^m, \{S_i\}_1^l, \{I_i\}_1^n$ and $\{J_i\}_1^p$ (for every k). This completes the proof of the theorem. \square

By setting $S_1 = S_2 = \dots = S_l = G, T_1 = T_2 = \dots = T_m = F, I_1 = I_2 = \dots = I_n = Q$ and $J_1 = J_2 = \dots = J_p = R$ in Theorem 3.1, we derive the following common fixed point theorem involving iterates of mappings.

Corollary 3.1. *If F, R and G, Q are two commuting self-mappings defined on a complex valued metric space (X, d) satisfying $F^m X \subseteq Q^n X, G^l X \subseteq R^p X$ and*

$$\lambda d(G^l x, F^m y) \lesssim Ad(Q^n x, R^p y) + Bd(Q^n x, G^l x) + Cd(R^p y, F^m y) + Dd(Q^n x, F^m y) + Ed(G^l x, R^p y)$$

for all $x, y \in X$. If one of $G^l X, F^m X, Q^n X$ or $R^p X$ is a complete subspace of X , then G, F, Q and R have a unique common fixed point in X .

Remark 3.1. If $S = T$ and I and J are identity mapping, $\lambda = 1, A = B = 0$ and $C \neq 0$, in the particular case, when (X, d) is a metric space, we obtain Kannan fixed point theorem (cf. [5]).

Remark 3.2. If $S = T$ and I and J are identity mapping, $A = C = 0, B \in \mathbb{C}_+$ and $B \neq 0$, in the particular case, when (X, d) is a metric space, we obtain Chatterjia theorem (cf. [6]).

Remark 3.3. If $S = T$ and I and J are identity mapping, $A, B, C \in \mathbb{R}^+$ and $\lambda = 1$ in the particular case, when (X, d) is a metric space, we obtain Hardy and Rogers theorem (cf. [7]).

REFERENCES

- [1] A. Azam, B. Fisher and M. Khan (2011). Common Fixed Point Theorems in Complex Valued Metric Spaces', Numerical Functional Analysis and Optimization, 32: 3, 243–253
- [2] F. Rouzkard and M. Imdad (2012). Some common fixed point theorems on complex valued metric spaces. Computers and Math. With Appl. 64(2012) 1866-1874.
- [3] G. Jungck and B. E. Rhoades (1998). Fixed point for set valued functions without continuity. Indian J. Pure Appl. Math. 29(1998)227-238.
- [4] M. Imdad, J. Ali, M. Tanveer (2009), Coincidence and common fixed point theorems for nonlinear contractions in Menger PM spaces. Chaos Solitons Fractals 42 (2009), no. 5, 3121–3129.
- [5] R. Kannan, (1968). Some results on fixed points. Bull. Calcutta Math. Soc. 60:71-76.
- [6] S.K. Chatterjea (1972). Fixed point theorems, C.R. Bulgar Sci. 25:727-730.
- [7] G.E. Hardy and T.D. Rogers (1973). A generalization of a fixed point theorems of Reich. Canadian Mathematical Bulletin. 16:201-206.

(Fayyaz Rouzkard) FARHANGYAN UNIVERSITY, MAZANDARAN IRAN
E-mail address: fayyazrouzkard@gmail.com & fayyaz.rouzkard@yahoo.com